Math 131, Fall 2016
Quiz 8, December 1, 2016
For all 8 a.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.
Since you have no calculator for the quiz, your final answers might

contain unevaluated expressions like -6—111‘5% or e

1. If the product of two positive numbers is 25, what is the smallest possible value for
their sum?
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2.Fory = f(z) = 2z + 1, what is the “left end-point approximation” L, to the area
under the graph and over the interval [0, 8]? Does L, overestimate or underestimate the
exact area A? why?

g-0_
Ax= v °&

A (R S0 )

|
| i L(i + 54 9 .pfﬂ)‘:-g&




Math 131, Fall 2016
Quiz 8, December 1, 2016
For all 9 a.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.
Since you have no calculator for the quiz, your final answers might

contain unevaluated expressions like éﬁ‘—ng ore .

1. A rock is dropped off a cliff 800m high on the planet Nefron. It hits the ground 4
seconds later. What is the acceleration due to gravity on Nefron? Include units with your
answer. (Assume that no other forces such as air resistance act on the falling rock.)
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2.2.Fory = f(z) = \/E , What is the “left end-point approximation” L, to the area
under the graph and over the interval [0, 8]? Does L4 overestimate or underestimate the
exact area A? why?
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Math 131, Fall 2016
Quiz 8, December 1, 2016
For all 10 a.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.
Since you have no calculator for the quiz, your final answers might

contain unevaluated expressions like 6"1‘1172 ore!

1. If the sum of two positive numbers is 25, what is the largest possible value for their
product? Z X
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2.Fory = f(z) = 4 — z, what is the “right end-point approximation” Ry to the area 7

under the graph and over the interval [0,4]? Does R, overestimate or underestimate the
exact area A? why?
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Math 131, Fall 2016
Quiz 8, December 1, 2016
For all 11 a.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.
Since you have no calculator for the quiz, your final answers might

contain unevaluated expressions like 6",‘!1’2 ore™!

1. On the planet Nefron, the acceleration due to gravity is — 100m/sec?. If a stone is
dropped off a cliff that is 800m high, it will hit the ground with what velocity? Include
units with your answer. (Assume that no other forces such as air resistance act on the
falling rock.)
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2.Fory = f(z) = = + 4, what is the “right end-point approximation” R4 to the area

under the graph and over the interval [ — 4,4]? Does R4 overestimate or underestimate
the exact area A? why? Y
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Math 131, Fall 2016
Quiz 8, December 1, 2016
For all 12 p.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.
Since you have no calculator for the quiz, your final answers might
In7 -1

contain unevaluated expressions like 1.5 or e

1. If the product of two positive numbers is 4, what is the smallest possible value for the
sum of the squares of the numbers?
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2.Fory = f(x) = €®, what is the “right end-point approximation” L, to the area under
the graph and over the interval [ — 2,2]? Does L, overestimate or underestimate the
exact area A? why?
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